X Em& IR EHERAE]
YIWU; ZHIJIANG MACHINE & EQUIPMENT CO.; LTD.

Q — Ak AR B # Sk
One-piece Hose Fittings

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD
www.zjhydraulics.com



IREiEL HOSEFITTING ®

10411Y

24° LLI

O il A1 R 024 ° 3 HE TH iR R 5
METRIC MALE 24° CONE SEAT L.T.DIN 3853

Fmits BWE EHOSE BORE @EJZ2 R T DIMENSIONS
PART NO.  THREAD E 2%M DN #52 DASH TUBEO.D. A C s1
1 [10411Y-14-04| M14X1.5 6 04 8 205 | 10 14
2 |10411Y-16-04 | M16X1.5 6 04 10 225 | 11 17
3 [10411Y-16-05| M16X1.5 8 05 10 22.5] 11 17
4 110411Y-18-06| M18X1.5 10 06 12 22.5| 11 19
5 [10411Y-22-08 | M22X1.5 13 08 15 26 12 24
6 [10411Y-26-10| M26X1.5 16 10 18 27 12 27
7 110411Y-30-12| M30X2 19 12 22 30 14 32
8 [10411Y-36-16| M36X2 25 16 28 315| 14 41
9 110411Y-45-20| MA45X2 32 20 35 37 16 46
10 |10411Y-52-24| M52X2 38 24 42 38 16 55
T FPRERTHREARE , AT ESRERSKNI10412Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 10412Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

10511Y

2 il A1 IR gr24° A HE T E R 8

METRIC MALE 24° CONE SEAT H.T.DIN 3853

Fmis BYE EZEHOSE BORE @ESMZE R I DIMENSIONS
PART NO. THREAD E 2#¥iA%E DN #5S DASH TUBEO.D. A C S1
1 |10511Y-14-04| M14X1.5 6 04 6 245 | 12 14
2 |10511Y-16-04| M16X1.5 6 04 8 26.5| 12 17
3 |10511Y-18-04| M18X1.5 6 04 10 26.5| 12 19
4 [10511Y-18-06| M18X1.5 10 06 10 26.5| 12 19
5 |10511Y-20-06{ M20X1.5 10 06 12 265 | 12 22
6 |[10511Y-22-08| M22X1.5 13 08 14 31 14 24
7 [10511Y-24-08| M24X1.5 13 08 16 315 | 14 27
8 |10511Y-30-10| M30X2 16 10 20 35 16 32
9 |10511Y-36-16| M36X2 25 16 25 415 | 18 41
10 (10511Y-42-16| M42X2 25 16 30 44 20 46
11 |10511Y-52-20| M52X2 32 20 38 50 22 55
it RPASHTRARE | BT ESRIRERSHU910512Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 10512Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

C 12611AY

60° L - e .
YL SR 2060° P HE T BN A B P 4L A R S

BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED

Fmits BaE BEHOSE BORE R 3 DIMENSIONS
PART NO. THREAD E 2#iA% DN ##2 DASH A C s1
1 12611AY-04-04 G1/4"X19 6 04 245 12 19
2 12611AY-06-06 G3/8"X19 10 06 28 | 135 | 22
3 12611AY-08-08 G1/2"X14 13 08 33 16 27
4 12611AY-12-12 G3/4"X14 19 12 37.5|18.5 | 32
5 12611AY-16-12 G1"X11 19 12 4251205 | 41
6 12611AY-16-16 G1"X11 25 16 4351205 | 41
7 12611AY-20-16 | G1.1/4"X11 25 16 4551205 | 50
8 12611AY-20-20 | G1.1/4"X11 32 20 46.5|20.5| 50
9 12611AY-24-24 | G.1/2"X11 38 24 49 23 55
10 12611AY-32-32 G2"X11 50 32 53.5|255 | 70
L D IZRYINEE R AIRA0EEE S , WA/ \AiREESRE.
2 FPREBTREKE | MATESFRERSEIH12612AY-XX-XX, Note:The part no. in table match
with braided hoses; If you want the fittings match with spiral hoses, the part no. will be 12612AY-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

13011Y-SP

TEHEE SMR AL
BSPT MALE

Fafts B4 E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2%KE DN #R2 DASH A C s1
1 13011Y-04-04SP | R1/4"X19 6 04 27 145 | 14
2 13011Y-06-06SP | R3/8"X19 10 06 27.5| 15 17
3 13011Y-08-08SP | R1/2"X14 13 08 35 20 22
4 13011Y-12-12SP | R3/4"X14 19 12 385 | 20 27
5 13011Y-16-12SP R1"X11 19 12 445 | 25,5 | 36
6 13011Y-16-16SP R1"X11 25 16 45 | 25,5 | 36
7 13011Y-20-20SP | R1.1/4"X11 32 20 49.5 | 26.5 | 46
8 13011Y-24-24SP | R1.1/2"X11 38 24 52.5|26.5 | 50
9 13011Y-32-32SP R2"X11 50 32 57 30 65
i EPREBTHENE , MATESIRERSECA13012Y-XX-XXSP, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 13012Y-XX-XXSP

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING @

;m 14211Y

‘ % HIORFS S S0 F O 1 %5

ORFS MALE O-RING SEAL ISO12151-1

B2 EEite B E BSZHOSE BORE OB R 3 DIMENSIONS
SN PARTNO.  THREAD E "*‘*"’I;'ﬁ@ JSDASH ORING A C Sl
1 |14211Y-04-04| 9/16"X18 6 04 07.65X1.78 | 225| 9.8 | 17
2 |14211Y-06-06| 11/16"X16 10 06 09.25X1.78 | 24 | 11.2| 19
3 |14211Y-08-08 | 13/16"X16 12 08 012.42X1.78| 285|128 | 22
4 |14211Y-10-10 1'X14 16 10 015.6X1.78 | 34 | 155 | 27
5 [14211Y-12-12|1.3/16"X12 19 12 018.77X1.78| 36.5| 17 | 32
6 |14211Y-16-16|1.7/16"X12 25 16 023.52X1.78| 38.5| 17.5 | 38
7 |14211Y-20-2011.11/16"X12 32 20 029.87X1.78|41.5|17.5 | 46
8 |[14211Y-24-24 2"X12 38 24 037.82X1.78{43.5|17.5| 55

T FPRERTREARE |, ATESRENRSEN14212Y-XX-XX, Note:The part no. in table match with

braided hoses; If you want the fittings match with spiral hoses, the part no. will be 14212Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

15611Y

A1 HE 7 AR L

NPT MALE

Fmits B E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E  2#i@312 DN ##S DASH A C s1
1 15611Y-04-04 Z1/4"X18 6 04 28 15 17
2 15611Y-06-06 Z3/8"X18 10 06 29 16 19
3 15611Y-08-08 Z1/2"X14 13 08 345 | 19 22
4 15611Y-12-12 Z3/4"X14 19 12 38.5|19.5 | 27
5 15611Y-16-16 Z1"X11.5 25 16 46.5 | 255 | 36
6 15611Y-20-20 |Z1.1/4"X11.5 32 20 50.5|26.5 | 46
7 15611Y-24-24 | Z1.1/2"X11.5 38 24 51 26 50
8 15611Y-32-32 Z2"X11.5 50 32 55 [ 27.5 | 65
i FPRERTHRERE , ATESENERI15612Y-XX-XX, Note: The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 15612Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

16711Y

j FMIJIC HMRELLT4° HhHETH

JIC MALE 74° CONE IS0 12151-5 SAE J514

ERite B E EX=HOSE BORE R <+ DIMENSIONS
PART NO. THREAD E 2#ME DN #FS DASH A C s1
1 16711Y-04-04 7/16"X20 6 04 26.5| 14 12
2 16711Y-05-05 1/2"X20 8 05 26.5| 14 14
3 16711Y-06-06 9/16"X18 10 06 265141 | 17
4 16711Y-08-08 3/4"X16 13 08 32 (16.7 | 22
5 16711Y-10-10 7/8"X14 16 10 3551193 | 24
6 16711Y-12-12 1.1/16"X12 19 12 40 | 219 | 30
7 16711Y-16-16 1.5/16"X12 25 16 435 | 23.1 | 36
8 16711Y-20-20 1.5/8"X12 32 20 475|243 | 46
9 16711Y-24-24 1.7/8"X12 38 24 53 [ 275 | 50
10 16711Y-32-32 2.1/2"X12 50 32 62 | 339 | 65
i RPRERTRANRE , AT ESERSM16712Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 16712Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

o 1l AR SCBR T

H )

S2

T
— ST

20111YT

nnon

METRIC FEMALE MULTISEAL

20111Y

o 1A g= 29 E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E %M DN #FS DASH A d S2
1 20111Y-14-04T | M14X1.5 6 04 205 | 45 | 17
2 20111Y-16-05T | M16X1.5 8 05 20 | 45 | 19
3 20111Y-18-06T | M18XL1.5 10 06 225 | 4 22
4 | 20111Y-22-08T | M22X1.5 12 08 245 | 5 27
5 20111Y-27-10T | M27X1.5 16 10 24 | 55 | 32
6 | 20111Y-30-10T | M30X1.5 16 10 255| 6 36
7 | 20111Y-30-12T | M30X1.5 19 12 285| 6 36
8 | 20111Y-36-12T M36X2 19 12 26 7 | 41
9 | 20111Y-36-16T M36X2 25 16 28 7 | 41
10 | 20111Y-39-16T M39X2 25 16 295 | 7 | 46
11 | 20111Y-42-16T M42X2 25 16 30 | 85 | 50
12 | 20111Y-45-20T M45X2 32 20 315| 85 | 55
13 | 20111Y-52-20T M52X2 32 20 33 9 60
14 | 20111Y-52-24T M52X2 38 24 33 9 60
15 | 20111Y-64-32T M64X2 51 32 35 | 14 | 75
i RPRSHETRIRE | MATESERENRSHH20112Y-XX-XX, Note: The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20112Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com




IREiEL HOSEFITTING ®

ST
_——AFI

7 B} !
" ; 90° 2l 1y 18 4T
S2
| S2 90° METRIC FEMALE MULTISEAL
¢ £ 20191YT ¢ 4= 20191Y

TRt 15 E E:&HOSE BORE R < DIMENSIONS
PART NO. THREAD E AHAREDN#FSDASH A H cC s2
1 20191Y-14-04T | M14X1.5 6 04 27 | 45 (355 | 17
2 20191Y-16-05T | M16X1.5 8 05 32 | 45 |385 | 19
3 20191Y-18-06T | M18X1.5 10 06 345 | 4 41 22
4 20191Y-22-08T | M22X1.5 12 08 41 5 49 27
5 20191Y-27-10T | M27X1.5 16 10 535| 55 | 535 32
6 | 20191Y-30-10T | M30X1.5 16 10 535| 6 |555| 36
7 20191Y-30-12T | M30X1.5 19 12 61 6 60 36
8 20191Y-36-12T M36X2 19 12 61 7 64 41
9 20191Y-36-16T M36X2 25 16 75 7 70 41
10 | 20191Y-39-16T M39X2 25 16 75 7 72 46
11 | 20191Y-42-16T M42X2 25 16 75 | 85 (725 | 50
12 | 20191Y-45-20T M45X2 32 20 91 | 85 85 55
13 | 20191Y-52-20T M52X2 32 20 91 9 86.5 | 60
14 | 20191Y-52-24T M52X2 38 24 106 9 97 60
15 | 20191Y-64-32T M64X2 51 32 132 | 14 | 122 | 75
it RPREATFRERE | AT ESRERSNKI20192Y-XX-XX, Note: The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20192Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

C_ A CA
{ AN { mag A LNA T P 24 ] P R T T 2
) M — | -~
: i - i GB METRIC FEMALE FLAT SEAT
S2 E S2
20211YT 20211YW

EFmiX=s 18 47 E KREHOSE BORE R 3 DIMENSIONS

PART NO. THREAD E 2#A% DN #s= DASH A (@ S2

1 20211Y-14-04T1 M14X1.5 6 04 16.5| 8.5 17
2 20211Y-16-04T M16X1.5 6 04 16 8.5 19
3 20211Y-16-05T M16X1.5 8 05 16.5| 8.5 19
4 20211Y-18-05T M18X1.5 8 05 18 9 22
5 20211Y-18-06T M18X1.5 10 06 17 9 22
6 20211Y-22-08T M22X1.5 12 08 19.5 10 27
7 20211Y-27-08T M27X1.5 12 08 18.5 10 32
8 20211Y-27-10T M27X1.5 16 10 20.5 10 32
9 20211Y-30-10T M30X1.5 16 10 20.5 11 36
10 20211Y-30-12T M30X1.5 19 12 22.5 11 36
11 20211Y-36-12T M36X2 19 12 20 13 41
12 20211Y-36-16T M36X2 25 16 24 13 41
13 20211Y-39-16T M39X2 25 16 23.5 13 46
14 20211Y-42-16T M42X2 25 16 23.5 15 50
15 [(20211Y-42-20W M42X2 32 20 25 15 50
16 20211Y-45-20T M45X2 32 20 25 15 55
17 20211Y-52-20T M52X2 32 20 25 17 60
18 20211Y-52-24T M52X2 40 24 25 17 60
19 20211Y-64-32T M64X2 50 32 26 23 75
i RPRERTREARE , ATFEENEREN920212Y-XX-XX, Note: The part no. in table match with

braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20212Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

A ‘
W Illm
N J
R
S2
20241YT

AR
i ﬁiﬁ
HS 2 i
RN
20241YW

45° 5 il N R S0 T 2
° METRIC FEMALE FLAT SEAT

RS 1B E FXZHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2% DN #FS DASH A C H
1 | 20241Y-14-04T | M14X1.5 6 04 354 | 85 |(15.7 | 17
2 | 20241Y-16-04T | M16X1.5 6 04 381 | 85 (185 | 19
3 | 20241Y-16-05T | M16X1.5 8 05 42 | 85 |19.7 | 19
4 | 20241Y-18-05T | M18X1.5 8 05 406 | 9 |183 | 22
5 | 20241Y-18-06T | M18X1.5 10 06 44 9 201 22
6 | 20241Y-22-08T | M22X1.5 12 08 46.7 | 10 | 19.8 | 27
7 | 20241Y-27-08T | M27X1.5 12 08 485 | 10 | 215 | 32
8 | 20241Y-27-10T | M27X1.5 16 10 59.7 | 10 | 228 | 32
9 | 20241Y-30-10T | M30X1.5 16 10 59.7 | 11 | 22.8 | 36
10 | 20241Y-30-12T | M30X1.5 19 12 66.2 | 11 (245 | 36
11 | 20241Y-36-12T M36X2 19 12 66.2 | 13 (245 | 41
12 | 20241Y-36-16T M36X2 25 16 783 | 13 (279 | 41
13 | 20241Y-39-16T M39X2 25 16 79.7 | 13 | 293 | 46
14 | 20241Y-42-16T M42X2 25 16 79.7 | 15 [ 293 | 50
15 |20241Y-42-20W M42X2 32 20 954 | 15 (352 | 50
16 | 20241Y-45-20T M45X2 32 20 94 15 (338 | 55
17 | 20241Y-52-20T M52X2 32 20 94 17 | 33.8 | 60
18 | 20241Y-52-24T M52X2 40 24 106 | 17 | 36.8 | 60
19 | 20241Y-64-32T M64X2 50 32 134 | 23 | 456 | 75
T RPRERTREAKRE , MATESINERSKN20242Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20242Y-XX-XX

www.zjhydraulics.com

Yiwu Zhijiang Machine&Equipment Co., Ltd



EREiEsL HOSE FITTING

4

A
I
7 1R )

’ f

S2
sz

it = 20291YT

A
T
7 —] |
-
20291YW
E

90° 2~ ffil] P 4R ST 1 %
90° METRIC FEMALE FLAT SEAT

RS 1B E FXZHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2% DN #FS DASH A C H
1 | 20291Y-14-04T | M14X1.5 6 04 27 | 85 [ 295 | 17
2 | 20291Y-16-04T | M16X1.5 6 04 27 | 85 | 32 19
3 | 20291Y-16-05T | M16X1.5 8 05 32 | 85 |375| 19
4 | 20291Y-18-05T | M18X1.5 8 05 32 9 |355] 22
5 | 20291Y-18-06T | M18X1.5 10 06 345| 9 (365 | 22
6 | 20291Y-22-08T | M22X1.5 12 08 41 10 42 27
7 | 20291Y-27-08T | M27X1.5 12 08 41 10 (445 | 32
8 | 20291Y-27-10T | M27X1.5 16 10 53.5| 10 49 32
9 | 20291Y-30-10T | M30X1.5 16 10 53.5| 11 | 49 | 36
10 | 20291Y-30-12T | M30X1.5 19 12 61 11 54 36
11 | 20291Y-36-12T M36X2 19 12 61 13 54 | 41
12 | 20291Y-36-16T M36X2 25 16 75 13 64 | 41
13 | 20291Y-39-16T M39X2 25 16 75 | 13 | 66 | 46
14 | 20291Y-42-16T M42X2 25 16 75 15 66 50
15 |20291Y-42-20W M42X2 32 20 91 15 [ 80.5| 50
16 | 20291Y-45-20T M45X2 32 20 91 15 (78,5 | 55
17 | 20291Y-52-20T M52X2 32 20 91 17 |78.5| 60
18 | 20291Y-52-24T M52X2 40 24 106 | 17 89 60
19 | 20291Y-64-32T M64X2 50 32 132 | 23 | 113 | 75
T RPRERTREAKRE , MATESENERSKIN20292Y-XX-XX, Note: The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20292Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



HREEL HOSE FITTING @

24°@ O 24 E
N -

20411YT 20411YW
Ol IR SL24°HE 0 B Bl i R A

METRIC FEMALE 24° CONE O-RING L. T. ISO 12151-2--DIN 3865

FmitsS B e E BREHOSE BORE OB R 3 DIMENSIONS

PART NO. THREAD E 2f A% DN {55 DASH O-RING A C S2
1 [20411Y-14-04T| M14X1.5 6 04 006.5X1.5| 24 | 1.7 | S17
2 |20411Y-16-04T| M16X1.5 6 04 008.0X1.5| 23 | 2.1 |S19
3 |20411Y-16-05T| M16X1.5 8 05 008.0X1.5| 24 | 2.1 |S19
4 |20411Y-18-04T| M18X1.5 6 04 010.0X1.5|245| 1.5 | S22
5 [20411Y-18-05T| M18X1.5 8 05 010.0X1.5|245| 1.5 | S22
6 [20411Y-18-06T| M18X1.5 10 06 010.0X1.5| 25 | 1.5 | S22
7 |20411Y-22-06T| M22X1.5 10 06 012.0X2.0|26.5| 3 |S27
8 [20411Y-22-08T| M22X1.5 13 08 012.0X2.0| 28 3 |S27
9 |20411Y-26-08T| M26X1.5 13 08 015.0X2.0|27.5| 2.1 |S32
10 [20411Y-26-10T| M26X1.5 16 10 015.0X2.0| 29 | 2.1 |S32
11 |20411Y-30-10T| M30X2.0 16 10 020.0X2.0| 31 | 3.8 | S36
12 |20411Y-30-12T| M30X2.0 19 12 020.0X2.0| 33 | 3.8 | S36
13 |20411Y-36-12T| M36X2.0 19 12 026.0X2.0| 33 | 4.5 | S41
14 |20411Y-36-16T| M36X2.0 25 16 026.0X2.0| 35 | 45 |S41
15 |20411Y-45-16T| M45X2.0 25 16 032.0X2.5| 37 4 | S50
16 |20411Y-45-20T| M45X2.0 32 20 032.0X2.5|375| 4 |S50
17 |20411Y-52-20T| M52X2.0 32 20 038.0X2.5|385| 4 |S60
18 |20411Y-52-24T| M52X2.0 38 24 038.0X2.5|385| 4 |S60

T RPREMTREAKE | BT ESHNERSEIN20412Y-XX-XX, Note: The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 20412Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

20441YT 20441YW

45° Al N IR L2440 T Bl R R S

45° METRIC FEMALE 24° CONE O-RING L. T. ISO 12151-2--DIN 3865

Fmits
PART NO.

12 E

BREHOSE BORE

THREAD E 2fiA1E DN {55 DASH

OB
O-RING

R < DIMENSIONS

A

C

H

S2

1 (20441Y-14-04T| M14X1.5 6 04 006.5X1.5| 36 1.7 | 16.4 | S17
2 |20441Y-16-04T| M16X1.5 6 04 008.0X1.5|36.3| 2.1 |16.6 | S19
3 [20441Y-16-05T| M16X1.5 8 05 008.0X1.5|39.7| 2.1 |17.3 |S19
4 |120441Y-18-04T| M18X1.5 6 04 010.0X1.5|37.2| 1.5 | 17.5|S22
5 (20441Y-18-05T| M18X1.5 8 05 010.0X1.5{41.3| 1.5 19 | S22
6 [20441Y-18-06T| M18X1.5 10 06 010.0X1.5| 43 1.5 19 | S22
7 |20441Y-22-06T| M22X1.5 10 06 012.0X2.0|43.4 3 19.4 | S27
8 120441Y-22-08T| M22X1.5 13 08 012.0X2.0|48.1 3 21.2 | S27
9 120441Y-26-08T| M26X1.5 13 08 015.0X2.0|49.1 | 2.1 | 22.2 |S32
10 |20441Y-26-10T| M26X1.5 16 10 015.0X2.0|61.2 | 2.1 | 249 |S32
11 [{20441Y-30-10T| M30X2.0 16 10 020.0X2.0|62.5| 3.8 | 26.2 | S36
12 [{20441Y-30-12T| M30X2.0 19 12 020.0X2.0|69.1| 3.8 |27.5|S36
13 [20441Y-36-12T| M36X2.0 19 12 026.0X2.0|69.4 | 4.5 | 27.7 | S41
14 [20441Y-36-16T| M36X2.0 25 16 026.0X2.0{81.4 | 4.5 31 | S41
15 [20441Y-45-16T| M45X2.0 25 16 032.0X2.5|836| 4 33.2 | S50
16 [20441Y-45-20T| M45X2.0 32 20 032.0X2.5|965| 4 36.2 | S50
17 [20441Y-52-20T| M52X2.0 32 20 038.0X2.5]97.2 4 36.9 | S60
18 [20441Y-52-24T| M52X2.0 38 24 038.0X2.5| 111 4 41.4 | S60
T RPRERTRANE |, ATESRENRSH920442Y-XX-XX, Note: The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 20442Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

A
= =
7 ]
H
H $2 82

20491YW

90° Al N IRL24°HE 0 T & R A

o - 20491YT o

90° METRIC FEMALE 24° CONE O-RING L. T.ISO 12151-2--DIN 3865

BREHOSE BORE R < DIMENSIONS

Fmits
PART NO.

18 51 E oORE

O-RING A C H S2

THREAD E 2fiA1E DN {55 DASH

1 |20491Y-14-04T| M14X1.5 6 04 006.5X1.5| 27 | 1.7 | 304 | S17
2 |20491Y-16-04T| M16X1.5 6 04 008.0X1.5| 27 | 2.1 |30.7 | S19
3 |20491Y-16-05T| M16X1.5 8 05 008.0X1.5| 32 | 2.1 |34.2 |S19
4 120491Y-18-04T| M18X1.5 6 04 010.0X1.5| 27 | 1.5 | 32 |S22
5 |20491Y-18-05T| M18X1.5 8 05 010.0X1.5| 32 | 1.5 |36.5|S22
6 |20491Y-18-06T| M18X1.5 10 06 010.0X1.5|345| 1.5 | 37 |S22
7 |20491Y-22-06T| M22X1.5 10 06 012.0X2.0|345| 3 38 | S27
8 120491Y-22-08T| M22X1.5 13 08 012.0X2.0| 41 3 44 | S27
9 |20491Y-26-08T| M26X1.5 13 08 015.0X2.0| 41 | 2.1 | 454 |S32
10 |20491Y-26-10T| M26X1.5 16 10 015.0X2.0| 53 | 2.1 |53.4 |S32
11 |20491Y-30-10T| M30X2.0 16 10 020.0X2.0| 53 | 3.8 | 53.7 | S36
12 |20491Y-30-12T| M30X2.0 19 12 020.0X2.0| 61 | 3.8 | 58.2 | S36
13 |20491Y-36-12T| M36X2.0 19 12 026.0X2.0| 61 | 4.5 | 585 |S41
14 |20491Y-36-16T| M36X2.0 25 16 026.0X2.0| 75 | 45 |68.5|S41
15 |20491Y-45-16T| M45X2.0 25 16 032.0X2.5| 75 4 |715 S50
16 |20491Y-45-20T| M45X2.0 32 20 032.0X2.5| 91 4 82 | S50
17 |20491Y-52-20T| M52X2.0 32 20 038.0X2.5| 91 4 83 | S60
18 |20491Y-52-24T| M52X2.0 38 24 038.0X2.5|106 | 4 | 955 |S60
T RPRERTREANE , AT ESRNEREX/920492Y-XX-XX, Note: The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 20492Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co.,

Ltd www.zjhydraulics.com



HREEL HOSE FITTING @

T
24°@ T 24°@ O
. §7 =82
20511YT 20511YW
O il N R Sr24 °HE A0 T Bl E R A

METRIC FEMALE 24° CONE O-RING H.T. ISO 12151-2--DIN 3865

Fmiis BAE BXEHOSE BORE (0}:]:3 R < DIMENSIONS

PART NO. THREAD E 2R DN 155 DASH O-RING A C S2

1 20511Y-14-04T | M14X1.5 6 04 004.5X1.5| 24 | 1.7 | S17
2 20511Y-16-04T | M16X1.5 6 04 006.5X1.5|24.5| 1.8 | S19
3 | 20511Y-16-05T | M16X1.5 8 05 006.5X1.5| 25 | 1.8 | S19
4 | 20511Y-18-04T | M18X1.5 6 04 008.0X1.5| 255 | 1.5 | S22
5 20511Y-18-05T | M18X1.5 8 05 008.0X1.5|255| 1.5 | S22
6 20511Y-18-06T | M18X1.5 10 06 008.0X1.5|26.5| 1.5 | S22
7 20511Y-20-05T | M20X1.5 8 05 010.0X1.5|26.5| 2.5 | S24
8 | 20511Y-20-06T | M20X1.5 10 06 010.0X1.5|26.5| 2.5 | S24
9 20511Y-22-06T | M22X1.5 10 06 011.0X2.0|26.5| 3 |S27
10 | 20511Y-22-08T | M22X1.5 13 08 011.0X2.0| 29 3 | S27
11 | 20511Y-24-06T | M24X1.5 10 06 013.0X2.0| 27 3 |S30
12 | 20511Y-24-08T | M24X1.5 13 08 013.0X2.0|275| 3 |S30
13 | 20511Y-30-08T | M30X2 13 08 016.3X2.4|325| 2.5 | S36
14 | 20511Y-30-10T | M30X2 16 10 016.3X2.4| 33 | 2.5 | S36
15 | 20511Y-30-12T M30X2 19 12 016.3X2.4|34.5| 2.5 | S36
16 | 20511Y-36-12T | M36X2 19 12 020.3X2.4| 35 3 | S46
17 | 20511Y-36-16T M36X2 25 16 020.3X2.4| 37 3 | S46
18 | 20511Y-42-16T | M42X2 25 16 025.3X2.4|385| 4 |S50
19 | 20511Y-52-20T | M52X2 32 20 033.3X24|415| 9 |S60
20 | 20511Y-52-24T7 M52X2 38 24 033.3X24 (415 9 |S60
T FPREATHRERE |, NATFESIRERSHB920512Y-XX-XX, Note: The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 20512Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

45°

METRIC FEMALE

45°

O fill IR L4024 °HE 750 B Bl AR A

24° CONE O-RING H.T.ISO 12151-2-DIN 3865

Emits B4aE BREHOSE BORE (0):]:5 R < DIMENSIONS

PART NO. THREAD E 2#fA1E DN #5S DASH O-RING A C H S2
1 (20541Y-14-04T| M14X1.5 6 04 004.5X1.5| 36 | 1.7 | 16.4 | S17
2 |20541Y-16-04T| M16X1.5 6 04 006.5X1.5(36.4 | 1.8 | 16.7 | S19
3 |20541Y-16-05T| M16X1.5 8 05 006.5X1.5(38.1| 1.8 17 | S19
4 |20541Y-18-04T| M18X1.5 6 04 008.0X1.5(374 | 1.5 [17.8 | S22
5 |20541Y-18-05T| M18X1.5 8 05 008.0X1.5(413 | 1.5 19 | S22
6 |20541Y-18-06T| M18X1.5 10 06 008.0X1.5(434 | 1.5 [ 194 | S22
7 |20541Y-20-05T| M20X1.5 8 05 010.0X1.5(41.7 | 25 | 193 | S24
8 [20541Y-20-06T| M20X1.5 10 06 010.0X1.5(43.7| 2.5 | 19.8 | S24
9 [20541Y-22-06T| M22X1.5 10 06 011.0X2.043.7| 3 |19.8|S27
10 (20541Y-22-08T| M22X1.5 13 08 011.0X2.0 485 | 3 |21.5]|S27
11 (20541Y-24-06T| M24X1.5 10 06 013.0X2.0(43.7| 3 |19.8|S30
12 (20541Y-24-08T| M24X1.5 13 08 013.0X2.0(485| 3 |21.5|S30
13 |20541Y-30-08T| M30X2 13 08 016.3X2.4 513 | 25 | 244 | S36
14 |20541Y-30-10T| M30X2 16 10 016.3X24 (634 | 25 | 27.1 | S36
15 |20541Y-30-12T| M30X2 19 12 016.3X2.4|68.4| 2.5 | 27.1 | S36
16 (20541Y-36-12T| M36X2 Lg) 12 020.3X2.4 713 | 3 |29.7|S46
17 (20541Y-36-16T| M36X2 25 16 020.3X2.4 824 | 3 32 | S46
18 (20541Y-42-16T| M42X2 25 16 0253X24 836 | 4 |33.2]S50
19 (20541Y-52-20T| M52X2 32 20 033.3X2.4(199.7| 9 |39.4]|S60
20 |20541Y-52-24T| M52X2 38 24 033.3X2.4 | 112 9 [425 |5S60

i FPRERTHREARE , BT ESERERSHH20542Y-XX-XX, Note: The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 20542Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



HREEL HOSE FITTING @

A A
m (TInh
ﬁ j /‘Z ; - m
7 ||j ) // ”f [
H Ksz "
: S2

o -/ 20591YT o 20591 YW

90° Al IR Lr24°HE w0 T 18 E R 5
90° METRIC FEMALE 24° CONE O-RING H.T. IS0 12151-2-DIN 3865

@S BaE BXEHOSE BORE O8I R < DIMENSIONS

PART NO. THREAD E 2#3A%E DN {75 DASH O-RING A C H S2

1 20591Y-14-04T | M14X1.5 6 04 004.5X1.5| 27 | 1.7 | 304 | S17
2 20591Y-16-04T | M16X1.5 6 04 006.5X1.5| 27 | 1.8 | 31 |S19
3 20591Y-16-05T | M16X1.5 8 05 006.5X1.5| 29 | 1.8 | 32 |S19
4 20591Y-18-04T | M18X1.5 6 04 008.0X1.5| 28 | 1.5 | 32.5|S22
5 20591Y-18-05T | M18X1.5 8 05 008.0X1.5| 32 | 1.5 | 36.5| S22
6 20591Y-18-06T | M18X1.5 10 06 008.0X1.5(34.5| 1.5 | 37.5| S22
7 20591Y-20-05T | M20X1.5 8 05 010.0X1.5| 32 | 25 | 37 |S24
8 20591Y-20-06T | M20X1.5 10 06 010.0X1.5|345| 25 | 38 |S24
9 20591Y-22-06T | M22X1.5 10 06 011.0X2.0|1345| 3 |385|S27
10 | 20591Y-22-08T | M22X1.5 13 08 011.0X2.0| 41 3 | 445 | S27
11 | 20591Y-24-06T | M24X1.5 10 06 013.0X2.0|1345| 3 |385|S30
12 | 20591Y-24-08T | M24X1.5 13 08 013.0X2.0| 41 3 |44.5|S30
13 | 20591Y-30-08T | M30X2 13 08 016.3X2.4| 41 | 2.5 | 48.5|S36
14 | 20591Y-30-10T | M30X2 16 10 016.3X2.4| 53 | 25 | 55 |S36
15 | 20591Y-30-12T | M30X2 19 12 016.3X2.4| 58 | 25 | 55 |S36
16 | 20591Y-36-12T | M36X2 19 12 020.3X2.4| o6l 3 |59.8 | S46
17 | 20591Y-36-16T | M36X2 25 16 020.3X2.4| 75 3 |69.8 | S46
18 | 20591Y-42-16T | M42X2 25 16 025.3X2.4| 75 4 | 716 S50
19 | 20591Y-52-20T | M52X2 32 20 033.3X2.4| 91 9 |86.5|S60
20 | 20591Y-52-24T | M52X2 38 24 033.3X2.4| 106 | 9 97 | Se0
T RPRERTRERE , MATESRERSBH20592Y-XX-XX, Note: The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 20592Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

C A C A
o e,
e B ,]l 74° E I
\{ E "
T s2 $2

20711YT 20711YW

[ b 2 1] N MR L7 4°%% 4

GB METRIC FEMALE 74° CONE SEAT

BZEHOSE BORE R < DIMENSIONS

aits
PART NO.

B E
THREAD E

2fRAE DN {78 DASH A C S2

1 20711Y-14-04T | M14X1.5 6 04 16.5| 85 | 17
2 20711Y-16-04T | M16X1.5 6 04 16 8 19
3 20711Y-16-05T | M16X1.5 8 05 16.5| 8 19
4 | 20711Y-18-05T | M18X1.5 8 05 19 8 22
5 20711Y-18-06T | M18X1.5 10 06 19 8 22
6 | 20711Y-22-06T | M22X1.5 10 06 19 10 | 27
7 20711Y-22-08T | M22X1.5 13 08 195| 10 | 27
8 20711Y-27-08T | M27X1.5 13 08 185| 10 | 32
9 20711Y-27-10T | M27X1.5 16 10 20 10 | 32
10 | 20711Y-30-10T | M30X1.5 16 10 20 11 | 36
11 | 20711Y-30-12T | M30X1.5 19 12 235| 11 | 36
12 | 20711Y-36-12T M36X2 19 12 21 13 | 41
13 | 20711Y-36-16T M36X2 25 16 22 13 | 41
14 | 20711Y-39-16T M39X2 25 16 235 13 | 46
15 | 20711Y-42-16T M42X2 25 16 235| 15 | 50
16 | 20711Y-42-20W | MA42X2 32 20 255( 15 | 50
17 | 20711Y-45-16T M45X2 25 16 235 15 | 55
18 | 20711Y-45-20T M45X2 32 20 25 15 | 55
19 | 20711Y-52-20T M52X2 32 20 25 17 | 60
20 | 20711Y-52-24T1 M52X2 38 24 25 17 | 60
21 | 20711Y-64-32T M64X2 51 32 26 | 23 | 75
i RPREBRTREARE |, MATESRENRSXH20712Y-XX-XX, Note: The part no. in table match
with braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20712Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com




EREiEsL HOSE FITTING

4

A
ooz AON]
H %V ”: " H
52 r
%&o Cr 20741T %\ <, 20741YW

45° [ by 2 il IR E74°% &

45° GB METRIC FEMALE 74° CONE

Fmits 184 E BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#iA{& DN {75 DASH A C H
1 | 20741Y-14-04T | M14X1.5 6 04 353 | 85 |15.7 | 17
2 | 20741Y-16-04T | M16X1.5 6 04 38.2| 8 185 | 19
3 | 20741Y-16-05T | M16X1.5 8 05 424 | 8 20 19
4 | 20741Y-18-05T | M18X1.5 8 05 427 8 [204 | 22
5 | 20741Y-18-06T | M18X1.5 10 06 448 | 8 |20.8 | 22
6 | 20741Y-22-06T | M22X1.5 10 06 448 | 10 |20.8 | 27
7 | 20741Y-22-08T | M22X1.5 13 08 47 10 | 20.1 | 27
8 | 20741Y-27-08T | M27X1.5 13 08 485 | 10 | 215 | 32
9 | 20741Y-27-10T | M27X1.5 16 10 59.6 | 10 | 228 | 32
10 | 20741Y-30-10T | M30X1.5 16 10 506 | 11 | 228 | 36
11 | 20741Y-30-12T | M30X1.5 19 12 676 | 11 | 259 | 36
12 | 20741Y-36-12T M36X2 19 12 676 | 13 | 259 | 41
13 | 20741Y-36-16T M36X2 25 16 79.7 | 13 | 293 | 41
14 | 20741Y-39-16T M39X2 25 16 804 | 13 30 | 46
15 | 20741Y-42-16T M42X2 25 16 81.8| 15 | 314 | 50
16 |20741Y-42-20W M42X2 32 20 95 15 | 34.8 | 50
17 | 20741Y-45-16T M45X2 25 16 81.8| 15 | 314 | 55
18 | 20741Y-45-20T M45X2 32 20 947 | 15 | 345 | 55
19 | 20741Y-52-20T M52X2 32 20 947 | 17 | 345 | 60
20 | 20741Y-52-24T M52X2 38 24 110 | 17 | 404 | 60
21 | 20741Y-64-32T M64X2 51 32 137 | 23 | 483 | 75
T FPRERTRARE | RTESRERSH920742Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20742Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com




HREEL HOSE FITTING @

A A

1

e FAIN - A

7 1 . o H B
H f

H
ﬁSZ) D S2

[

E 20791YT w 20791YW

74°
74°

90° [ Fr 2y il W IR 417 4°% ff

90° GB METRIC FEMALE 74° CONE

RS e E BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#iA{& DN {75 DASH A C H
1 20791Y-14-04T1 M14X1.5 6 04 27 85 294 | 17
2 20791Y-16-04T M16X1.5 6 04 27 8 334 | 19
3 | 20791Y-16-05T | M16X1.5 8 05 32 8 38 19
4 | 20791Y-18-05T | M18X1.5 8 05 32 8 385 | 22
5 | 20791Y-18-06T | M18X1.5 10 06 345| 8 40 | 22
6 20791Y-22-06T M22X1.5 10 06 345 | 10 40 27
7 20791Y-22-08T M22X1.5 13 08 41 10 | 425 | 27
8 20791Y-27-08T M27X1.5 13 08 41 10 | 445 | 32
9 20791Y-27-10T M27X1.5 16 10 53.5| 10 49 32
10 | 20791Y-30-10T M30X1.5 16 10 535| 11 49 36
11 | 20791Y-30-12T M30X1.5 19 12 61 11 56 36
12 | 20791Y-36-12T M36X2 19 12 61 13 56 41
13 | 20791Y-36-16T M36X2 25 16 75 13 66 41
14 | 20791Y-39-16T M39X2 25 16 75 13 67 46
15 | 20791Y-42-16T M42X2 25 16 75 15 69 50
16 [20791Y-42-20W M42X2 32 20 91 15 80 50
17 | 20791Y-45-16T M45X2 25 16 75 15 69 55
18 | 20791Y-45-20T M45X2 32 20 91 15 | 79.5| 55
19 | 20791Y-52-20T M52X2 32 20 91 17 | 79.5| 60
20 | 20791Y-52-24T M52X2 38 24 106 | 17 94 60
21 | 20791Y-64-32T M64X2 51 32 132 | 23 117 | 75
T RPRERTREAKE , AT ESHNERSKIN20792Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 20792Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

C_A C_A

N 60’ E ] REmaeosm
- BSP FEMALE 60° CONE

S2

60°{ E‘

22611Y 22611YW

Fafts B4 E BEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2%/ DN {FS DASH A C Ss1
1 22611Y-04-04 G1/4" X19 6 04 18 5.5 | S19
2 22611Y-06-04 G3/8" X19 6 04 19 6.3 | S22
3 22611Y-06-06 G3/8" X19 10 06 19.5| 6.3 | S22
4 22611Y-08-06 G1/2" X14 10 06 21 7.5 | S27
5 22611Y-08-08 G1/2" X14 13 08 215 | 7.5 | S27
6 22611Y-12-10 G3/4" X14 16 10 235|109 | S32
7 22611Y-12-12 G3/4" X14 19 12 24 |110.9 | S32
8 22611Y-16-16 G1" X11 25 16 27 | 11.7 | S41
9 22611Y-20-20W |G1.1/4" X11 32 20 30.5| 11 | S50
10 | 22611Y-24-24W |G1.1/2" x11 38 24 33 13 | S55
11 | 22611Y-32-32W G2" X11 51 32 33 le | S70
i RPRERTREANE , WATEENERSX22612Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 22612Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

A
-
H
C
&
%

22641Y

D.

45°

45°

N4
S
o

22641YW

YL N BRL60° HMHETH
BSP FEMALE 60° CONE

=) 184 E BXZHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2iAZ DN {F2 DASH A C H S2
1 22641Y-04-04 | G1/4" X19 6 04 36 | 5,5 164 |S19
2 22641Y-06-04 | G3/8" X19 6 04 37 | 6.3 |17.3 (S22
3 22641Y-06-06 | G3/8" X19 10 06 428 | 6.3 | 18.8 | S22
4 22641Y-08-06 | G1/2" X14 10 06 448 | 7.5 | 20.8 | S27
5 22641Y-08-08 | G1/2" X14 13 08 488 | 7.5 | 219 | S27
6 22641Y-12-10 | G3/4" X14 16 10 624|109 | 26.1 | S32
7 22641Y-12-12 | G3/4" X14 19 12 69.1 109|274 | S32
8 22641Y-16-16 Gl" X11 25 16 82.7|11.7 | 323 | $41
9 |22641Y-20-20W |G1.1/4" X11 32 20 98.2 | 11 38 | S50
10 |22641Y-24-24W |G1.1/2" x11 38 24 115 | 13 |44.6 | S55
11 |22641Y-32-32W | G2" X11 51 32 141 | 16 | 52.7 | S70
i RPREBRTHRERE  WBATESENSN22642Y-XX-XX, Note: The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 22642Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com




EREiEsL HOSE FITTING

A
=
~§

22691Y
E
RVARN
60°

A
AN
H / |
it
O 22691YW
E
VAN
60°
90° L NIRZ60° AMHETH

90° BSP FEMALE 60° CONE

Fmits B E BZEHOSE BORE R <> DIMENSIONS
PART NO. THREAD E 2#3A{E DN {75 DASH A C H S2
1 22691Y-04-04 | G1/4" X19 6 04 27 5.5 | 30.5 | S19
2 22691Y-06-04 | G3/8" X19 6 04 27 6.3 | 31.7 | S22
3 22691Y-06-06 | G3/8" X19 10 06 345 | 6.3 | 37.2|S22
4 22691Y-08-06 | G1/2" X14 10 06 345| 7.5 | 40 |S27
5 22691Y-08-08 | G1/2" X14 13 08 41 7.5 46 | S27
6 22691Y-12-10 | G3/4" X14 16 10 53 | 109 | 53.6 | S32
7 22691Y-12-12 | G3/4" X14 19 12 61 |10.9|58.1 | S32
8 22691Y-16-16 G1" X11 25 16 75 [11.7]70.3 | S41
9 122691Y-20-20W [G1.1/4" X11 32 20 91 11 | 84.5 | S50
10 [22691Y-24-24W |G1.1/2" x11 38 24 106 | 13 100 | S55
11 [22691Y-32-32W | G2" X11 51 32 132 | 16 123 | S70
T RPRERTREAKRE , MATESINERSKIN22692Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 22692Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

C A C A
AT | VAT
60°CE( rE 0 | 60°CE l ] LB PN IE 2060 ° A1 HE TH XU 7S F
) S1 S2 S1
BSP FEMALE 60° CONE DOUBLE HEXAGON
22611DY-SM 22611DY-SMW

RS B4 E EXZ=HOSE BORE R < DIMENSIONS
PART NO. THREAD E 2FiM#Z DN {72 DASH A C s1  S2
1 22611DY-04-04SM | G1/4" X19 6 04 235 55 | S14 | S19
2 22611DY-06-06SM | G3/8" X19 10 06 26 | 6.3 | S17 | S22
3 22611DY-08-06SM | G1/2" X14 10 06 30.5| 7.5 | S19 | S27
4 22611DY-08-08SM | G1/2" X14 13 08 31 | 7.5 | S19 | S27
5 22611DY-12-12SM | G3/4" X14 19 12 33.5[/10.9 | S27 | S32
6 22611DY-16-16SM G1" X11 25 16 36 | 11.7 | S32 | S41
7 |22611DY-20-20SMW |G1.1/4" X11 32 20 44 11 | S41 | S50
8 [22611DY-24-24SMW |G1.1/2" x11 38 24 45 13 | S46 | S55
9 [22611DY-32-32SMW | G2" X11 51 32 45 16 | S60 | S70
T RPREATRAKRE | BT ESHNERSKIN22612DY-XX-XXSM, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 22612DY-XX-XXSM

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

C A C A C A

‘ ﬁm} - =g (AL rﬁ%
| BE P Clgn
S 82 R
24211YT 24211Y 24211YW

FHIORFS WA L1 H

ORFS FEMALE FLAT SEAT ISO 12151-1--SAE J1453

s
PART NO.

B E
THREAD E

BEEHOSE BORE

AMAE DN 175 DASH

R < DIMENSIONS

A

C

S2

1 24211Y-04-04 9/16"X18 6 04 22.5| 85 |S19
2 24211Y-06-04T | 11/16"X16 6 04 23.5| 10 | S22
3 24211Y-06-06 |11/16"X16 10 06 25.5| 10 | S22
4 24211Y-08-06T | 13/16"X16 10 06 25 11 | S27
5 24211Y-08-08 | 13/16"X16 13 08 28 11 | S27
6 24211Y-10-08 1"X14 13 08 32.5|13.5 | S30
7 24211Y-10-10 1"X14 16 10 33.5|13.5|S30
8 24211Y-12-08T [1.3/16"X12 13 08 30.5| 15 |S36
9 24211Y-12-10T |[1.3/16"X12 16 10 32 15 | S36
10 24211Y-12-12T |1.3/16"X12 19 12 33 15 | S36
11 24211Y-16-12T |1.7/16"X12 19 12 35 1148 | S41
12 24211Y-16-16T [1.7/16"X12 25 16 345 |14.8 | S41
13 | 24211Y-20-20W |1.11/16"X12 32 20 425 | 15 | S50
14 24211Y-24-24T 2"X12 38 24 36 | 14.8 | S60
i RPRERTREANRE , WATESKENRERN24212Y-XX-XX, Note: The part no. in table match
with braided hoses; If you want the fittings match with spiral hoses, the part no. will be 24212Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com




EREiEsL HOSE FITTING

”””""I'lllll"-s;i!.l..I..!..I..!..I._, y

HLW// )

S2
24241YT 24241Y 24241YW

45°  EHIORFS P24 ~F

45° ORFS FEMALE FLAT SEAT IS0 12151-1--SAE J1453

FmtsS B4 E BREHOSE BORE R 7 DIMENSIONS
PART NO. THREAD E 2#A#& DN S DASH A C H S2
1 24241Y-04-04 9/16"X18 6 04 30.7 | 85 | 11.1 | S19
2 24241Y-06-04T | 11/16"X16 6 04 358 | 10 |16.1 | S22
3 24241Y-06-06 11/16"X16 10 06 37.7 | 10 | 13.8 | S22
4 24241Y-08-06T | 13/16"X16 10 06 441 | 11 | 20.1 | S27
5 24241Y-08-08 13/16"X16 13 08 443 | 11 |[17.5 | S27
6 24241Y-10-08 1"X14 13 08 48.5|13.5|21.5 | S30
7 24241Y-10-10 1"X14 16 10 56.5|13.5(19.7 | S30
8 | 24241Y-12-08T | 1.3/16"X12 13 08 49.2 | 15 | 22.2 | S36
9 24241Y-12-10T | 1.3/16"X12 16 10 59.1| 15 | 22.8 |S36
10 | 24241Y-12-12T | 1.3/16"X12 19 12 66.2 | 15 | 24.5 | S36
11 | 24241Y-16-12T | 1.7/16"X12 g 12 68.3|14.8 | 26.6 | S41
12 | 24241Y-16-16T | 1.7/16"X12 25 16 79 |14.8 | 28.6 | S41
13 | 24241Y-20-20W [1.11/16"X12 32 20 98.6 | 15 | 38.4 | S50
14 | 24241Y-24-24T 2"X12 38 24 106 [ 14.8 | 36.8 | S60
T PR ERTRENRE | IBATESRERSH24242Y-XX-XX, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 24242Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

A A
“““‘\\\\\\\\\\\\\\G‘:{!L- e M - éi e 7-
! =
. ,
H
S2 H S2
“ : 24291YT o g : 24291 YW

90° ZEHIORFS A4 FH

90° ORFS FEMALE FLAT SEAT ISO 12151-1--SAE J1453

EFmis B4 E BREHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#3A#&E DN S DASH A C H S2
1 24291Y-04-04 9/16"X18 6 04 27 | 85 [ 244 |S19
2 24291Y-06-04T | 11/16"X16 6 04 27 10 30 | S22
3 24291Y-06-06 | 11/16"X16 10 06 345 | 10 30 | S22
4 | 24291Y-08-06T | 13/16"X16 10 06 345 | 11 39 |[S27
5 24291Y-08-08 13/16"X16 13 08 40.7 | 11 | 38.7 | S27
6 24291Y-10-08 1"'X14 13 08 41 |13.5]|44.5 |S30
7 24291Y-10-10 1"X14 16 10 53.5113.5(44.5 | S30
8 24291Y-12-08T | 1.3/16"X12 13 08 41 15 | 455 | S36
9 24291Y-12-10T | 1.3/16"X12 16 10 53 15 49 | S36
10 | 24291Y-12-12T | 1.3/16"X12 19 12 61 15 54 | S36
11 | 24291Y-16-12T | 1.7/16"X12 19 12 61 | 148 | 57 |S41
12 | 24291Y-16-16T | 1.7/16"X12 25 16 75 | 148 | 65 |S41
13 | 24291Y-20-20W [1.11/16"X12 32 20 91 15 85 | S50
14 | 24291Y-24-24T 2"X12 38 24 106 [ 14.8 | 89 | S60
i BPRERTREANE | WRTESRRENSH24292Y-XX-XX, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 24292Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com




IREiEL HOSEFITTING @

C A C A
- Y] SEHIORES iy 42 50 T 37 F
esz S1 ORFS FEMALE FLAT SEAT DOUBLE HEXAGON
24211DY-SM 24211DY-SMW

FRits 8 & E B:=HOSE BORE R < DIMENSIONS
PART NO. THREAD E 2% /= DN #f2 DASH A C S1 S2
1 24211DY-04-04SM | 9/16"X18 6 04 28.5| 85 | S14 | S19
2 24211DY-06-06SM | 11/16"X16 10 06 31.5| 10 | S17 | S22
3 24211DY-08-08SM | 13/16"X16 13 08 37.5| 11 | S19 | S27
4 24211DY-10-10SM 1"X14 16 10 44 | 13.5| S24 |S30
5 24211DY-12-12SM | 1.3/16"X12 19 12 445 | 15 | S30 | S36
6 24211DY-16-16SM | 1.7/16"X12 25 16 50 | 14.8 | S36 | S41
7 |24211DY-20-20SMW [1.11/16"X12 32 20 54.5| 15 | S41 | S50
8 |24211DY-24-24SMW 2"X12 38 24 56 | 14.8 | S50 | S60
T RPRERTREAKRE | MATESNERSKIN24212DY-XX-XXSM, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 24212DY-XX-XXSM

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

C_A C A
111N | 0000
| :[]l 74° E |1 SR 74 B Jl
S < §2
26711Y 26711YT 26711YW

KHBITIC WIRGT4° NAHET

JIC FEMALE 74° CONE SEAT SAE J514

ERKs 08 5 E B ZHOSE BORE R 3 DIMENSIONS

PART NO. THREAD E ¥/ DN #52 DASH A C S1
1 26711Y-04-04 7/16"X20 6 04 15 9 S15
2 26711Y-04-05 7/16"X20 8 05 15 9 S15
3 26711Y-06-06 9/16"X18 10 06 15.5|10.5 | S19
4 26711Y-08-06 3/4"X16 10 06 175 | 11 | S24
5 26711Y-08-08 3/4"X16 13 08 185 | 11 |S24
6 26711Y-08-10 3/4"X16 16 10 19 11 | S24
7 26711Y-10-08 7/8"X14 13 08 19 13 | S27
8 26711Y-10-10 7/8"X14 16 10 195 | 13 | S27
9 26711Y-12-10 1.1/16"X12 16 10 21 15 | S32
10 26711Y-12-12 1.1/16"X12 19 12 21.5| 15 |S32
11 26711Y-16-12 1.5/16"X12 19 12 21.5| 16 | S41
12 26711Y-16-16 1.5/16"X12 25 16 225 | 16 | S41
13 | 26711Y-20-20W | 1.5/8"X12 32 20 26.5| 17 | S50
14 | 26711Y-24-24W | 1.7/8"X12 38 24 30.5| 20 | S55
15 26711Y-32-24T 2.1/2"X12 38 24 27 | 23.5|S75
16 26711Y-32-32T 2.1/2"X12 51 32 27 | 23.5|S75

T BEPRERTREARE | WRTESRERSHH26712Y-XX-XX, Note:The part no. in table match with
braided hoses; If you want the fittings match with spiral hoses, the part no. will be 26712Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

IR RR R B
” ”’,"l'l'llllllllhi;.'.L!...I...!..I...I._ y

H /A Couls
S2

5 58
T 26741Y -

c i
ii\ 26741YW

26741YT

45° ZEHIJIC WIRLT4° WNHET

45° JIC FEMALE 74° CONE SEAT SAE J514

Fmits B4 E BEEHOSE BORE R = DIMENSIONS

PART NO. THREAD E 2#iA#& DN S DASH A H S2

1 26741Y-04-04 7/16"X20 6 04 33.9 9 14.3 | S15

2 26741Y-04-05 7/16"X20 8 05 34.9 9 143 | S15

3 26741Y-06-06 9/16"X18 10 06 40.2 |110.5|16.2 | S19
4 26741Y-08-06 3/4"X16 10 06 416 | 11 |17.6 | S24

5 26741Y-08-08 3/4"X16 13 08 463 | 11 | 194 |S24

6 26741Y-08-10 3/4"X16 16 10 51 11 | 20.1 | S24
7 26741Y-10-08 7/8"X14 13 08 474 | 13 | 20.5|S27
8 26741Y-10-10 7/8"X14 16 10 59.5| 13 | 23.2 |S27

9 26741Y-12-10 | 1.1/16"X12 16 10 60.2 | 15 | 239 [S32
10 26741Y-12-12 | 1.1/16"X12 1) 12 66.9 | 15 | 25.2 | S32
11 26741Y-16-12 | 1.5/16"X12 19 12 67.6 | 16 | 259 | S41
12 26741Y-16-16 | 1.5/16"X12 25 16 79.3 | 16 | 28.9 | S41
13 [26741Y-20-20W | 1.5/8"X12 32 20 954 | 17 | 35.2 | S50
14 |26741Y-24-24W | 1.7/8"X12 38 24 112 | 20 |42.8 | S55
15 [(26741Y-32-24W | 2.1/2"X12 38 24 113 | 23.5|43.6 | S75
16 |26741Y-32-32W | 2.1/2"X12 51 32 140 | 23,5 51.6 | S75
i RPRERTREANRE | ATESNENRSEN26742Y-XX-XX, Note:The part no. in table match with braided

hoses; If you want the fittings match with spiral hoses, the part no. will be 26742Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

m

74°

A
[ *‘Lgﬁﬁﬁﬁ
/W 7;@’111 =
7 —H| ¢} % ;
H
H %ﬁgj/fsz §2
U (LT3 24791y o 26791YT

A
s i
H
S2
~ 26791YW

74°

90° EHIJIC WEAZ74° NHETH

90° JIC FEMALE 74° CONE SEAT SAE J514

Emits 8 a E BREHOSE BORE R 7 DIMENSIONS

PART NO. THREAD E 22#A#& DN S DASH A H S2

1 26791Y-04-04 7/16"X20 6 04 27 9 27.4 | S15

2 26791Y-04-05 7/16"X20 8 05 28 9 27.4 | S15

3 26791Y-06-06 9/16"X18 10 06 345105 33.5 | S19
4 26791Y-08-06 3/4"X16 10 06 345 | 11 | 355 |S24
5 26791Y-08-08 3/4"X16 13 08 41 11 [ 425 | S24

6 26791Y-08-10 3/4"X16 16 10 45 11 [ 425 | S24
7 26791Y-10-08 7/8"X14 13 08 41 13 | 43.5 | S27
8 26791Y-10-10 7/8"X14 16 10 53 13 | 495 | S27
9 26791Y-12-10 | 1.1/16"X12 16 10 53 15 | 50.5 | S32
10 26791Y-12-12 | 1.1/16"X12 g 12 61 15 55 | S32
11 26791Y-16-12 | 1.5/16"X12 19 12 61 16 56 | S41
12 26791Y-16-16 | 1.5/16"X12 25 16 75 16 | 65.5 | S41
13 |26791Y-20-20W | 1.5/8"X12 32 20 91 17 | 80.5 | S50
14 |(26791Y-24-24W | 1.7/8"X12 38 24 106 | 20 [ 97.5 | S55
15 |26791Y-32-24W | 2.1/2"X12 38 24 106 | 23.5(98.5 | S75
16 [26791Y-32-32W | 2.1/2"X12 51 32 132 | 23.5| 122 | S75
T RPREATRERE , BATESRERERH26792Y-XX-XX, Note:The part no. in table match with braided

hoses; If you want the fittings match with spiral hoses, the part no. will be 26792Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



HREEL HOSE FITTING @

C_A

74° |E

26711DY-SM 26711DY-SMW

EHITIC WIRLT4° P HETH XS
IC FEMALE 74° CONE SEAT DOUBLE HEXAGON

Fmfis B4 E BZEHOSE BORE R < DIMENSIONS
PART NO. THREAD E 2#iPRI2 DN ##S DASH A C s1  s2
1 26711DY-04-04SM 7/16"X20 6 04 20 9 S12 | S15
2 26711DY-04-05SM | 7/16"X20 8 05 20 9 S14 | S15
3 26711DY-06-06SM | 9/16"X18 10 06 21 |10.5| S17 | S19
4 26711DY-06-08SM | 9/16"X18 13 08 21.5(10.5 | S19 | S19
5 26711DY-08-065SM 3/4"X16 10 06 25 11 | S19 | S24
6 26711DY-08-08SM 3/4"X16 13 08 245] 11 | S19 | S24
7 26711DY-08-10SM 3/4"X16 16 10 255] 11 | S22 | S24
8 26711DY-10-08SM 7/8"X14 13 08 25 13 | S22 | S27
9 26711DY-10-10SM 7/8"X14 16 10 27 13 | S22 | S27
10 | 26711DY-12-10SM | 1.1/16"X12 16 10 32 15 | S27 | S32
11 | 26711DY-12-12SM | 1.1/16"X12 19 12 32 15 | S27 | S32
12 | 26711DY-16-12SM | 1.5/16"X12 19 12 33.5| 16 | S32 | S41
13 | 26711DY-16-16SM | 1.5/16"X12 25 16 345| 16 | S32 | S41
14 [{26711DY-20-20SMW | 1.5/8"X12 32 20 38 17 | S41 | S50
15 [26711DY-24-20SMW | 1.7/8"X12 32 20 415| 20 | S46 | S55
16 [26711DY-24-24SMW | 1.7/8"X12 38 24 415 | 20 | S46 | S55
17 [26711DY-32-24SMW | 2.1/2"X12 38 24 44 | 23.5 | S65 | S75
18 [26711DY-32-32SMW | 2.1/2"X12 51 32 44 | 23.5 | S65 | S75
i BPRESRTHRENE  METESRERSHN26712DY-XX-XXSM, NoteThe part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 26712DY-XX-XXSM

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

C_A C_A
AT Nz H A 2% il A SR £060° 1A #E T
60° E{ e Elrn
— - .
~ ° JIS METRIC FEMALE 60° CONE SEAT
| S2 S1 s2 . 9S1
28611Y 28611YW
~mits e E BEEHOSE BORE R 7 DIMENSIONS
PART NO. THREAD E 2ffBE& DN {55 DASH A C S1
1 28611Y-14-04 M14X1.5 6 04 21 | 105 19 19
2 28611Y-16-05 M16X1.5 8 05 24 10 22 22
3 28611Y-16-06 M16X1.5 10 06 24 10 22 22
4 28611Y-18-06 M18X1.5 10 06 24 | 115 | 24 24
5 28611Y-20-08 M20X1.5 12 08 285 | 12 27 27
6 28611Y-22-08 M22X1.5 12 08 285 | 14 27 27
7 28611Y-24-08 M24X1.5 12 08 285 | 15 32 32
8 28611Y-24-10 M24X1.5 16 10 29 15 32 32
9 28611Y-30-12 M30X1.5 20 12 28.5|18.3 | 36 36
10 28611Y-33-12 M33X1.5 20 12 31 | 213 | 41 41
11 28611Y-36-16 M36X1.5 25 16 345 | 20 46 46
12 28611Y-42-20W M42X1.5 32 20 40 | 18.8 55 55
T RPEATRENRE |, BATESRERSHA28612Y-XX-XX, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 28612Y-XX-XX

www.zjhydraulics.com

Yiwu Zhijiang Machine&Equipment Co., Ltd



EREiEsL HOSE FITTING

4

60° E

00000

N
| S2 S1

29611Y

C_A
\
IR 00000 ] A< 3 41 P 2 5060° Py 4k T
60° ' :[I
;2 S1 JIS GAS FEMALE 60° CONE SEAT
29611YW

RS 125 E E:=HOSE BORE R < DIMENSIONS
PART NO. THREAD E 43/ DN {52 DASH A S1  S2
1 29611Y-04-04 G1/4"X19 6 04 21 8 S19 | S19
2 29611Y-06-05 G3/8"X19 8 05 23 9 S22 | S22
3 29611Y-06-06 G3/8"X19 10 06 23 9 S22 | S22
4 29611Y-08-08 G1/2"X14 13 08 265 12 S27 | S27
5 29611Y-10-10 G5/8"X14 16 10 30.5|11.5 | S30 | S30
6 29611Y-12-12 G3/4"X14 19 12 30.5|13.5 | S32 | S32
7 29611Y-16-16 G1"X11 25 16 34 16 S41 | S41
8 29611Y-20-20W G1.1/4"X11 32 20 43 | 18.5 [ S50 | S50
9 29611Y-24-24W G1.1/2"X11 38 24 435] 19 S55 | S55
10 29611Y-32-32W G2"X11 51 32 46.5| 23 S70 | S70
T RPRERTREANE , AT EERNERSH29612Y-XX-XX, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 29612Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING @

LI 11 8731y
A N
D § ‘ J[ SAE %= 3000 PSI

L SAE FLANGE 3000 PSI

FS aits #E=8s BXEHOSE BORE R < DIMENSIONS
SN PART NO. FLANGE NO. 2#iR{E DN #5585 DASH A D L
1 | 87311Y-08-08 1/2" 13 08 46 | 30.2 |6.73
2 | 87311Y-08-10 1/2" 16 10 47.5130.2 |6.73
3 | 87311Y-12-08 3/4" 13 08 47 |38.1|6.73
4 | 87311Y-12-10 3/4" 16 10 48 |38.1 |6.73
5 | 87311Y-12-12 3/4" 19 12 48 |38.1 |6.73
6 | 87311Y-12-16 3/4" 25 16 49 |38.1 |6.73
7 | 87311Y-16-12 1" 19 12 51 (444 | 8
8 | 87311Y-16-16 1" 25 16 52 (444 | 8
9 | 87311Y-16-20 1" 32 20 53 (444 | 8
10 | 87311Y-20-12 1.1/4" 19 12 56 [50.8| 8
11 | 87311Y-20-16 1.1/4" 25 16 57 |50.8| 8
12 | 87311Y-20-20 1.1/4" 32 20 58 |50.8 | 8
13 | 87311Y-20-24 1.1/4" 38 24 61 | 508 | 8
14 | 87311Y-24-20 1.1/2" 32 20 68 | 603 | 8
15 | 87311Y-24-24 1.1/2" 38 24 68 | 603 | 8
16 | 87311Y-32-24 2" 38 24 70 |71.4 |9.53
17 | 87311Y-32-32 2" 51 32 70 | 71.4 |9.53
18 | 87311Y-40-32 2.1/2" 51 32 73 | 84.1 | 9.53
i RPREBATREAKE | WRATESRERSHH87312Y-XX-XX, Note:The part no. in table match
with braided hoses; If you want the fittings match with spiral hoses, the part no. will be 87312Y-XX-
XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

A
AN, 87341

H W E ‘ 45° SAE %% 3000 PS|

D 45° SAE FLANGE 3000 PS|
L
Fmits E=ES BREHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2fiA1E DN #585 DASH A H D

1 87341Y-08-08 1/2" 13 08 499 (229 30.2 |6.73
2 87341Y-12-08 3/4" 13 08 499 (229 | 38.1 |6.73
3 87341Y-12-10 3/4" 16 10 61.1(24.3|38.1 (6.73
4 87341Y-12-12 3/4" 19 12 67.6 | 259 | 38.1 [6.73

5 87341Y-16-12 1" 19 12 67.6 | 259 | 44.4 8

6 87341Y-16-16 1" 25 16 79.7 1294 | 444 8

7 87341Y-16-20 1" 32 20 94 |33.8|444 8

8 87341Y-20-16 1.1/4" 25 16 79.7 | 29.3 | 50.8 8

9 87341Y-20-20 1.1/4" 32 20 94 |33.8|50.8 8

10 87341Y-24-20 1.1/2" 32 20 95.4135.2 |60.3 8

11 87341Y-24-24 1.1/2" 38 24 107 | 38.3 | 60.3 8
12 87341Y-32-24 2" 38 24 107 | 38.3|71.4 [9.53
13 87341Y-32-32 2" 51 32 135 [{46.3 | 71.4 | 9.53
14 87341Y-40-32 2.1/2" 51 32 131 |47.8 | 84.1 |9.53
it FPRERTFREWE , WATFEENEKEXI87342Y-XX-XX, Note:The part no. in table match with braided

hoses; If you want the fittings match with spiral hoses, the part no. will be 87342Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

87391Y

90° SAE %™ 3000 PSI

H
90° SAE FLANGE 3000 PSI
L
D
Fmits E=RS BREHOSE BORE R 7 DIMENSIONS
PART NO. FLANGE NO. 2fA7E DN #55 DASH A H D

1 87391Y-08-08 1/2" 13 08 41 |46.5|30.2 |6.73
2 87391Y-08-10 1/2" 16 10 535 | 50 |30.2]6.73
3 87391Y-12-08 3/4" 13 08 41 |46.5|38.1 [6.73
4 87391Y-12-10 3/4" 16 10 535 | 51 |38.1]6.73
5 87391Y-12-12 3/4" 19 12 61 56 |38.1|6.73

6 87391Y-16-12 1" 19 12 61 56 444 | 8

7 87391Y-16-16 1" 25 16 75 66 (444 | 8

8 87391Y-16-20 1" 32 20 91 (785|444 | 8

9 87391Y-20-12 1.1/4" 19 12 61 56 |50.8| 8

10 87391Y-20-16 1.1/4" 25 16 75 66 | 508 | 8

11 87391Y-20-20 1.1/4" 32 20 91 (78,5508 | 8

12 87391Y-20-24 1.1/4" 38 24 975785508 | 8

13 87391Y-24-20 1.1/2" 32 20 91 (80.5|60.3| 8

14 87391Y-24-24 1.1/2" 38 24 106 | 91 | 60.3 8
15 | 87391Y-32-24 2" 38 24 106 | 91 | 71.4 |9.53
16 | 87391Y-32-32 2" 51 32 132 | 114 | 71.4 | 9.53
17 | 87391Y-40-32 2.1/2" 51 32 132 | 116 | 84.1 | 9.53
iE  RPREBTREARE |, WBETESRRERSH/I87392Y-XX-XX, Note:The part no. in table match with braided

hoses; If you want the fittings match with spiral hoses, the part no. will be 87392Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

Fmis
PART NO.

E=BS

BREHOSE BORE

87611Y

SAE %> 6000 PSI

SAE FLANGE 6000 PSI

R < DIMENSIONS

FLANGE NO. 2% % DN xS DASH A

D

L

1 87611Y-08-08 1/2" 13 08 47 | 31.7 |7.75
2 87611Y-08-10 1/2" 16 10 48 | 31.7 |7.75
3 87611Y-12-08 3/4" 13 08 50 | 41.3 |8.76
4 87611Y-12-10 3/4" 16 10 51 |41.3 |8.76
5 87611Y-12-12 3/4" 19 12 51 |41.3 |8.76
6 87611Y-12-16 3/4" 25 16 52 | 41.3 |8.76
7 87611Y-16-12 1" 19 12 56 | 47.6 |9.53
8 87611Y-16-16 1" 25 16 57 | 47.6 |9.53
9 87611Y-16-20 1" 32 20 61 |[47.6 |9.53
11 | 87611Y-20-16 1.1/4" 25 16 65 54 110.3
12 | 87611Y-20-20 1.1/4" 32 20 66 54 |10.3
13 | 87611Y-24-20 1.1/2" 32 20 75 | 635|126
14 | 87611Y-24-24 1.1/2" 38 24 75 | 635|126
15 | 87611Y-32-24 2" 38 24 85 (794 |12.6
16 | 87611Y-32-32 2" 51 32 85 794 |12.6
T RPERTRARE | WRATESRERSH87612Y-XX-XX, Note:The part no. in table match
with braided hoses; If you want the fittings match with spiral hoses, the part no. will be 87612Y-XX-XX

www.zjhydraulics.com

Yiwu Zhijiang Machine&Equipment Co., Ltd




IREiEL HOSEFITTING ®

Wﬂm“ 87641Y
H W / Ia‘ J[ 45° SAE ¥ % 6000 PSI

D 45° SAE FLANGE 6000 PSI

ERAe Fame BEZHOSE BORE R <7 DIMENSIONS
PART NO. FLANGE NO. 2ffAf£ DN #5S DASH A H D
1 87641Y-08-08 1/2" 13 08 4991229 |31.7 |7.75
2 87641Y-12-10 3/4" 16 10 63.9|27.1|41.3 |[8.76
3 87641Y-12-12 3/4" 19 12 70.4|128.8|41.3 [8.76
4 87641Y-16-12 1" 19 12 725309 |47.6 [9.53
5 87641Y-16-16 1" 25 16 84.6 | 34.2 | 47.6 |9.53
6 87641Y-20-16 1.1/4" 25 16 87.4(37.1| 54 [10.3
7 87641Y-20-20 1.1/4" 32 20 102 {415 | 54 |10.3
8 87641Y-24-20 1.1/2" 32 20 105 |45.1(63.5 (12.6
9 87641Y-24-24 1.1/2" 38 24 117 | 48.2 (| 63.5 [12.6
10 87641Y-32-32 2" 51 32 145 1619 (794 [12.6
i FPRERTRERE | AT EEREEKI87642Y-XX-XX, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 87642Y-XX-XX

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



IREiEL HOSEFITTING ®

AR 87691Y

2o
// 90° SAE = 6000 PSI

H 90° SAE FLANGE 6000 PSI
L
D
Fmits E=RS BEEHOSE BORE R 7 DIMENSIONS
PART NO. FLANGE NO. 2fiA7E DN #5S DASH A H D
1 87691Y-08-08 1/2" 13 08 41 |46.5|31.7 |7.75
2 87691Y-08-10 1/2" 16 10 535 | 51 |31.7|7.75
3 87691Y-12-08 3/4" 13 08 41 | 505|413 (8.76
4 87691Y-12-10 3/4" 16 10 535 | 55 | 413 |8.76
5 87691Y-12-12 3/4" 19 12 61 60 |41.3 |8.76
6 87691Y-12-16 3/4" 25 16 75 70 | 413 [8.76
7 87691Y-16-12 1" 19 12 61 63 |47.6 |9.53
8 87691Y-16-16 1" 25 16 75 73 | 47.6 [9.53
9 87691Y-16-20 1" 32 20 91 [85.5]|47.6 |9.53
10 87691Y-20-16 1.1/4" 25 16 75 77 54 [10.3
11 87691Y-20-20 1.1/4" 32 20 91 (89.5| 54 |10.3
12 87691Y-24-20 1.1/2" 32 20 91 (945|635 |12.6
13 87691Y-24-24 1.1/2" 38 24 106 | 105 | 63.5 |12.6
14 | 87691Y-32-24 2" 38 24 106 | 113 | 794 |12.6
15 | 87691Y-32-32 2" 51 32 132 | 136 | 794 | 12.6
i RPREATRARE | AT ESINERSEIN87692Y-XX-XX, Note:The part no. in table match with braided
hoses; If you want the fittings match with spiral hoses, the part no. will be 87692Y-XX-XX.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

A

AN T

87613Y

SAE % * 6000 PSI

SAE FLANGE 6000 PSI

L
s E=BS BREHOSE BORE R 7 DIMENSIONS
PART NO. FLANGE NO. 2ffA3{Z DN #5S DASH A D) L
1 87613Y-20-20 1.1/4" 32 20 69.8| 54 |10.3
2 87613Y-24-20 1.1/2" 32 20 78.8 1635 126
3 87613Y-24-24 1.1/2" 38 24 78.7 1635 |12.6
4 87613Y-32-24 2" 38 24 91.2|794 |12.6
5 87613Y-32-32 2" 51 32 91 [79.4 |12.6
T RPSAT A AERLESERE.
NOTE: The part no. in table match with six spiral hoses in super high pressure.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



HREEL HOSE FITTING @

YT 87643Y

/ 1
T W lﬁJ 45° SAE %% 6000 PSI

45° SAE FLANGE 6000 PSI

Fmits E=Rs BZEHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2fRA#Z DN xS DASH A H D
1 87643Y-20-20 1.1/4" 32 20 117 {415 | 54 |10.3
2 87643Y-24-20 1.1/2" 32 20 120 | 451 | 63.5|12.6
3 87643Y-24-24 1.1/2" 38 24 131 | 48.2 | 635|126
4 87643Y-32-24 2" 38 24 140 | 53.8 | 794 | 12.6
5 87643Y-32-32 2" 51 32 163 | 61.9 | 794 |12.6
T RPASAT N ENLESERE.
NOTE: The part no. in table match with six spiral hoses in super high pressure.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



EREiEsL HOSE FITTING

4

UAA

87693Y

90°

90°

SAE % * 6000 PSI

SAE FLANGE 6000 PSI

ERike b i BXEHOSE BORE R < DIMENSIONS
PART NO. FLANGE NO. 2#RPIZ DN #55 DASH A H D
1 87693Y-20-20 1.1/4" 32 20 106 [ 89.5| 54 [10.3
2 87693Y-24-20 1.1/2" 32 20 106 [ 94.5 | 63.5 |12.6
3 87693Y-24-24 1.1/2" 38 24 121 | 105 | 63.5 |12.6
4 87693Y-32-24 2" 38 24 121 | 113 | 794 |12.6
5 87693Y-32-32 2" 51 32 150 | 136 | 794 |12.6
ix RPN SAT R ERLESERE.
NOTE: The part no. in table match with six spiral hose in super high pressure.

Yiwu Zhijiang Machine&Equipment Co., Ltd

www.zjhydraulics.com



Mifn&E£l Information

2114 Seal

O

d N

O #2[& O Ring | D |
4H 43 Bonded Seal

DIN 24° #4541 O JE [l % 34 1] O JE [l

For DIN 24° Cone O-ring L.T. SAE 7% H] O J£[El For SAE Flange O-ring
OIS N = A OB VRS
PART NG, 2 UHREAD d b | Meeos. PARTNO. | FLANGESIzE | ¢ b
004.5x1.5 M12X1.5 45 1.5 6 0210 1/2" 18.64 | 3.53
006.5x1.5 M14X1.5 6.5 1.5 8 0214 3/4" 24.99 | 3.53
008.0x1.5 M16X1.5 8.0 15 10 0219 1" 3292 | 3.53
010.0x1.5 M18X1.5 100 | 15 12 0222 1.1/4" 37.69 | 3.53
012.0x2.0 M22X1.5 12.0 2.0 15 0225 1.1/2" 4722 | 3.53
015.0x2.0 M26X1.5 150 | 2.0 18 0228 2" 56.74 | 3.53
015.0x2.0 M27X1.5 150 | 2.0 18 0232 2.1/4" 69.44 | 3.53
026.0x2.0 M36X2 26.0 | 2.0 28 S Vs y A
032.0x2.5 M45X2 320 | 25 35 PART NO. FLANGE SIZE
038.0x2.5 M52X2 380 | 25 42 0212 5/8” 21.82 | 3.53
o G AMIREL O TRl % B3k H O JE e
DIN 24° %’EE?\@J O ﬂ?fﬁji:j‘ﬁﬁ (6] ﬂ'f For BSP Male 6-ring .
For DIN 24° Cone O-ring H.T. _ ] P — 3 o
OIS | wurrireap | o | b | ETSME PART NO.
PART NO. s TUBE O.D. 0011 G1/8”X28 765 | 1.78
004.5x1.5 M14X1.5 45 | 15 6 0111 G1/4’X19 10.77 | 2.62
006.5x1.5 M16X1.5 6.5 15 8 0113 G3/87X19 1394 | 262
008.0x1.5 M18X1.5 8.0 15 10 0115 G2 X4 1712 | 2.62
010.0x1.5 M20X1.5 100 | 1.5 12 0910 pp—— 1918 | 246
011.0x2.0 M22X1.5 11.0 | 2.0 14
0119 G3/47X14 2347 | 2.62
013.0x2.0 M24X1.5 13.0 | 2.0 16 -
016.3x2.4 M30X2 16.3 | 24 20 0217 G1"Xi1 29.74 | 3.53
020504 NI3EK0 203 | 24 5t 0222 G1.1/4°X11 3769 | 3.53
033.3x2.4 M52X2 333 | 24 38 054.0X3.0 G2"X11 54 3
\ N et SAE AL O T Pel % B2k H O TE &
i ORFS #MERA1-1 O JE el 2 3l O JE Kl For SAE Male O-ring
For ORES Male O-ring OJE IS i THREAD d b
OFBINS 1 oy THREAD d b R
PART NO. o 0904 7/16"x20UNF 8.92 | 1.83
0011 9/16"x18UNF 7.65 1.78 0905 1/2"x20UNF 1052 | 1.83
0012 11/16"x16UN 925 | 1.78 0906 9/16'x18UNF | 11.89 | 1.98
0014 13/16"x16UN 12.42 | 1.78 0908 34" x16UNF 16.36 | 2.21
o e e b
ALk ' ' 0912 1.116"x12UN | 2347 | 2.95
0021 1.7/16"x12UN 2352 | 1.78 0914 316x120N | 2662 [ 292
0025 1.11/16"x12UN | 29.87 | 1.78 : "X : :
0029 5'%12UN 3782 | 1.78 0916 1.5/16"x12UN 29.74 | 2.95
0920 1.5/8"x12UN 37.46 | 3.00
0924 1.7/8"x12UN 43.69 | 3.00
0932 2.1/2"x12UN 59.36 | 3.00

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



Mifn&E£l Information

L A IREL 60° SHETHT O TE

For BSP Female 60°Cone O-ring 7 3 1% 4 HI 21 45 %4 Bonded Seal
ATyIRE \ I iR \
Ot s | sz THREAD d b e 27 THREAD d D
0171 G3/4°X14 171 | 16 ZHD-10 M10 « G1/8" 10.4 16
0221 G17X11 221 | 1.6 ZHD-14 M14 . G1/4" 14.4 20
0291 G1.1/4"X11 29.1 1.6 ZHD-16 M16 16.4 22
0351 G1.1/2"X11 351 | 16 ZHD-18 M18 . G3/8" 18.4 25
KL ] O JE 8 For Waterwash O-ring ZHD-22 M22 . G1/2" 225 | 30
ST - ZHD-24 M24 24.5 32
PART NO. 227 THREAD d b ZHD-27 M27 . G3/4" 27.5 35
010.0X2.0 M22x1.5 100 | 2.0 ZHD-30 M30 30.5 38
ZHD-33 M33 . G1" 335 42
SAE #1143 1] O JE: 8 For SAE Staplelok O-ring ZHD-36 V36 366 76
OJERIf S PSR P b ZHD-42 M42 . G1.1/4" 426 53
PART NO. FITTING SIZE TS T T h =
006.0X2.0 -04 6.0 | 2.0
010 0X2.0 06 100 20 ZHD-48 M48 . G1.1/2" 487 60
013.0X2.5 -08 13.0 | 2.5 ZHD-52 M52 52.7 66
019.0X2.5 12 190 | 25 ZHD-60 M60 . G2 60.7 75
025.0X2.5 -16 250 | 2.5
033.0X2.5 -20 330 | 25
040.0X3.0 24 40.0 | 3.0
050.0X3.0 -32 50.0 | 3.0
IS AR ZCRT I ) A O TR R - ;
For Metric Male Adjustable Stud End O-ring N
8}\%1&5 22 THREAD d b £
006.1X1.6 M8X1 6.1 16
008.1X1.6 M10X1 8.1 16
009.3X2.4 M12X1.5 93 | 2.4 Jket CAPTIVE
011.3X2.4 M14X1.5 113 | 2.4 TR
013.3%2.4 M16X1.5 133 | 24 PARTNO, | *RZCTHREAD | d | D H
015.3X2.4 M18X1.5 153 >4 WD-B02 G1/8"X28 8.4 11.9 1.0
017.3X2.4 M20X1.5 173 24 WD-B04 G1/4"X19 11.6 16.5 1.5
019.3X2.4 M22X1.5 19.3 24 WD-B06 G3/8"X19 14.7 18.9 1.5
021.3X3.0 M24X1.5 21.3 3.0 WD-B08 G1/2"X14 18.5 23.9 1.5
023.5X3.0 M26X1.5 235 3.0 WD-B12 G3/4"X14 23.9 29.2 1.5
023.5X3.0 M27X2 235 3.0 WD-B16 G1"X11 29.7 35.7 2.0
026.5X3.0 M30X2 26.5 3.0 WD-B20 G1.1/4"X11 38.8 45.8 2.0
029.5X3.0 M33X2 295 3.0 WD-B24 G1.1/2"X11 447 50.7 2.0
038.5X3.0 M42X2 38.5 3.0 WD-B02 M10X1 8.4 11.9 1.0
044.5X3.0 M48X2 445 | 3.0 WD-M12 M12X1.5 9.8 | 14.4 15
056.2X3.0 M60X2 56.2 | 3.0 WD-M14 M14X1.5 11.8 | 165 15
‘ WD-M16 M16X1.5 13.8 | 18.9 15
T] | WD-M18 M18X1.5 15.7 | 20.9 15
WD-M20 M20X1.5 178 | 22.9 15
b WD-M22 M22X1.5 196 | 243 15
™ LT WD-B12 M26X1.5 239 | 29.2 15
[j;ifiimi}# < = - WD-B12 M27X2 239 | 292 15
TN WD-B16 M33X2 29.7 | 35.7 1.5
DP-B04G 6 1 2 WD-B20 M42X2 388 | 458 | 20
DP-B08G 6 18 2 WD-B24 M48X2 247 | 507 2.0

s SN
B d D | A
DP-B04DK 6 11.3 4.5
DP-B08DK 12 18.5 5

YIWU ZHIJIANG MACHINE & EQUIPMENT CO., LTD

www.zjhydraulics.com



	1: Catalogu
	2: 10411Y
	3: 10511Y
	4: 12611AY
	5: 13011Y-SP
	6: 14211Y
	7: 15611Y
	8: 16711Y
	9: 20111Y
	10: 20191Y
	11: 20211Y
	12: 20241Y
	13: 20291Y
	14: 20411Y
	15: 20441Y
	16: 20491Y
	17: 20511Y
	18: 20541Y
	19: 20591Y
	20: 20711Y
	21: 20741Y
	22: 20791Y
	23: 22611Y
	24: 22641Y
	25: 22691Y
	26: 22611DY-SM
	27: 24211Y
	28: 24241Y
	29: 24291Y
	30: 24211DY-SM
	31: 26711Y
	32: 26741Y
	33: 26791Y
	34: 26711DY-SM
	35: 28611Y
	36: 29611Y
	37: 87311Y
	38: 87341Y
	39: 87391Y
	40: 87611Y
	41: 87641Y
	42: 87691Y
	43: 87613Y
	44: 87643Y
	45: 87693Y
	46: 00110
	47: 03310
	48: 01200A
	49: 01200
	50: 00400/00401
	51: 00400D - 00621
	52: 01400
	53: 10411
	54: 10511
	55: 13011-SP
	56: 14211
	57: 12611A
	58: 15611
	59: 16711
	60: 20111
	61: 20191
	62: 20211
	63: 20241
	64: 20291
	65: 20411
	66: 20441
	67: 20491
	68: 20511
	69: 20541
	70: 20591
	71: 20711
	72: 20741
	73: 20791
	74: 22611
	75: 22641
	76: 22691
	77: 22611D-SM
	78: 24211
	79: 24241
	80: 24291
	81: 24211D-SM
	82: 26711
	83: 26741
	84: 26791
	85: 26711D-SM
	86: 28611
	87: 29611
	88: 87311
	89: 87341
	90: 87391
	91: 87611
	92: 87641
	93: 87691
	94: 87613
	95: 87643
	96: 87693
	97: P87341 - P87391
	98: FL - FS



